Let 7, (x) bethe n™ degree Taylor polynomial for f(x) = e*" about x =0, SCORE: /8 PTS
[a] If —% < x <4, what is the maximum difference between f(x) and 7, (x) according to Taylor’s Inequality/Remainder Theorem ?

erte your answer asa fraction, NOT as a decimal. Your answer may use €.
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[b] What is the maximum difference between f(—4) and T} (—75) according to the Alternating Series Estimation Theorem ?
Write your answer as a fraction, NOT as a dec1mal
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Find the area between the x — axis and the curve ; in the graph shown on the right. SCORE: /8 PTS
y=2—t
Do NOT find a Cartesian/rectangular equation for the curve,
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$=-11n2f
Find a Cartesian/rectangular equation for the curve ’ ‘ SCORE: /4 PTS
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Find the equation of the tangent line to the curve , at the point (2, 3). SCORE: /6 PTS
y=t =5t+1

For convenience, write the equation in point-slope form, NOT slope-intercept form.
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The graph on the right shows 7 as a function of ¢ in Cartesian coordinates. SCORE: /4 PTS
Use it to sketch the corresponding polar graph # = f(8) on the polar graph paper below.
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